Name:

Final Exam: EE 10, Fall 2008

Problem 1,
10 pts For the circuit given below, write, but do not solve, the equations for both the Mesh

Current Method and the node Voltage Method.
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Final Exam.: EE 10, Fall 2008 Name:

10 pts Probiem 2.

Find both the Norton and the Thevenin equivalent circuits with respect to the terminals

ab.
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Final Exam: EE 10, Fall 2008 Name:

10 pts Problem 3.

For the circuit shown below R, is varied until it absorbs the maximum power from the

circuit
7 pts (a) Find R,
3 pts (b) Find the maximum power being transferred to R,.
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Final Exam: EE 10, Fall 2008 Name:
10 pts Problem 4.
Find 7,.
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Final Exam: EE 10, Fall 2008 Name:

10 pts Problem 5.

Assume a real Op-Amp operating in the linear region. With
Rin=110K; R,=0K; A=1000

Calculate v,/vg.
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Final Exam: EE 10, Fall 2008 Name:

10 pts Problem 6.
Assuming ideal Op-Amps
5 pts a) Find i,

5 pts b) For what value of the left source is i, = 0?
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Final Exam: EE 10, Fall 2008 Name:

10 ptS Problem 7.

The two series connected capacitors are connected to the terminals of a black box at 1=0.

The resulting current i(z) = 900e>"" 4

5 pts a) Find v, forr>0;
2 pts b) How much energy was initially stored in C; and C,?
3 pts c) What is the equivalent resistance of the black box?
|
)"ﬂr'?fw/\/o/f; 51 T i

62}»’-51/ o Jo v Tlaf?;:. (B/‘LEK

\SV __,\Tf WP vk Ver\= JZ E Uk A V(e
\ Yoo = 7 £ ~ 2560k
- 1 \7\(\?%%86 1<
zﬁ " ,wf,'WoJc s 430
A VW ) ¢ e s0e Y

2..

B. wm\g % J?lo“r )
C, * %(MF\("J") § Ay
0oz H(snf)(s\* 7 3 .2TSAMT

C.

er\ *NE

By = %3320

8of 10



Final Exam: EE 10, Fall 2008

10 pts Problem 8.

Name:

The switch has been at location a for a long time. At r=0, the switch moves to b. find v,(1)

for 1=0;
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Final Exam: EE 10, Fall 2008 Name:

10 pts Problem 9.

There is no energy stored on the capacitors at the instant the two switches are closed

5 pts a) Express v,(1) as a function of v,, v, R, and C.
S pts b) How long will it take to saturate the amplifier if
R=40K C=25nF v.=10 mV vp=60 mV
Vee=12V
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